Zatka 30x2 J

H__’//—-I'SOOIIIIII 4”
300mm

D

Skrutka zavitorezna M6x35

Skrutka lavickova M6x35

Podlozka 6,4
Matica M6
Skrutka 6HR M8x20

Podlozka 8,4

Matica M8

Zatka 30x2 I

Postup sestaveni

Postup zostavovania

Satnikovy hacik

©

Skrutky 3x16

Skrutka zavitorezna M6x35

s

@
//1311m”n71

Kostra lavicky

Smrekové dosky

Skrutka 6HR M8x20
Podlozka 8,4

Matica M8

Skrutka lavickova M6x35

Procedura budowania

Montageanleitung

(1.2,3.4,5)

Podlozka 6,4
Matica M6
Satnikovy hacik
Skrutka 3x16
Zatka 30x2

Skrutka zavitorezna M6x35

3ks
Sks
4ks
4ks
4ks
12ks
12ks
12ks
Sks
10ks
6ks
6ks



